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200 Crate sliding along a rough ramp
A 18kg crate can slide up or down a ramp at angle 25°
from the horizontal. The coefficient of kinetic friction
between the crate and the ramp is 0.30. (131F2024)

a) Determine the crate’s acceleration if it slides up the

ramp.

b) Determine the crate’s acceleration if it slides down

the ramp.
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231 Connected objects: two ramps

Blocks connected by a massless string are able to slide '
on two frictionless ramps. (131F2024)

a) Determine the acceleration of the blocks.

b) Suppose that the block on the right were re-
placed by another block so that the two blocks
slide with constant speed. What would the
mass of the block on the right be?
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249 Cart sliding over a hill

A 30kg cart slides over a hill, which has a circular cross-section
of radiug 12m. The speed of the cart at the highest point is
4.0m/s. Determine the normal force exerted by the hill on the
cart. (13112024)
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